	
	ALGEBRA 2    




                  Name: ____________________________

UNIT 6 Study Team Test




      Date: _________________ Period: _____

Show all your work and reasoning.  Use a pencil and highlight your answers.

	
	1.  Evaluate each log expression without using a calculator.
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	2.  Solve for x.  Give the exact and approximate answers.  Be accurate to two decimal places.
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	3.  Solve and graph each inequality.
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	4.  Given 
[image: image16.wmf]3

2

)

(

+

=

x

x

f

 and 
[image: image17.wmf]2

)

(

x

x

g

=

, find:

	
	a)  
[image: image18.wmf]))

2

(

(

g

f



	b)  
[image: image19.wmf]))

2

(

(

f

g


	c)  
[image: image20.wmf]))

(

(

x

g

f



	d)  
[image: image21.wmf]))

(

(

x

f

g



	
	5.  Determine each inverse.
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	6.  Graph each function.  Label locator points and any asymptotes.
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	7.  Rewrite as either a logarithmic or exponential form
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	8.  Expand the logarithm 

a)  
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	Rewrite as a single logarithm.

b)  
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	9.  Graph 
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	10.  Fred puts $200 into an account that earns 6% annual interest compounded quarterly.  When will his account triple?


	11.  Donald Trump’s new yacht cost $2.5 million.  It depreciates at 18% per year.  In how many years will the yacht be worth half a million dollars?
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